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* Moving electric charges (current) produce magnetic fields. o _2—7'_7%‘1 1

* So, moving magnets must also produce electric currents.

* The experiments done by Michael Faraday in England and Joseph Henry in USA,
conducted around 1830.
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[t measures the number of magnetic field lines pas_éjng through a given area.
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QUESTION ) 03
' Fe

A coil of area A = 2i +J(_15 placed in magnetic field B =2i+ 37 + 6k T. Then find
flux passing from thetott—
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~ QUESTION ) @

A_circular disc of radius 0.2 metre is placed in a uniform magnetic field of induction
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Q MR
Faraday’'s Law of Electromagnetic Induction WY

Whenever there is change in the magnetic flux linked with the coil, emf or current is
induced in the coil. The magnitude of the induced emf'in a circuit (coil) is equal to the
time rate of change of magnetic flux through the circuit
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QUESTION )

To induce an e.m.f. in a coil, the linking magnetic flux

CF —> (g —, € = —cdd

= O
dt
@ @iecrease + — et re
o<
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QUESTION @

N
ion: Only a change in magnetic flux will maintain an induced current in the
coil. P — st cbonge Tl T
Reasgn: The presence agnetic flux through a coil maintains a current in the
coif the circuit is continuous. [AIIMS 1999, 2018]

@ If both assertion and reason are true and reason is the correct
explanation of the assertion.

@ If both assertion and reason are true but reason is not correct
explanation of the assertion.

@%assertion is true, but reason is false.

@ Assertion is false, reason is true
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The magnetic flux through a coil perpendicular to its plane is varying according to the

relation ¢ = (5¢7+ 4t* + 2t - 5) Weber. If the resistance of the coil is 5 Q, then the
induced current through the coil ll be, [26 June, 2022 (Shift-1)]
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Magnetic flux (in weber) in a closed circuit of resistanaries with time t(s} as
b= 8t% - 9t + 5. The magnitude of the induced current at t=0.25 s will be mA.

[25 July, 2022 (Shift-11)]
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A coil of resistance 400 is placed in a magnetic field. If the magnetic flux
¢(Wb) linked with the coil varies with time t(s) as ¢ = 50t* + 4, the current in the
coilatt = 2sis (2012)
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The magnetic flux linked with a coil (in Wb) is given by the equation ¢ = 5¢% + 3t + 16
The magnitude of induced emf in the coil at the t = 4 sec will be
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‘ , Methods to change Magnetic Flux )
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c , Sign Conventions for direction of current )
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The polarity of induced emf is such that it produces a&current(which opposes the

[cEange 1jn magnetic f!ux fﬁat produced it { Hatt. Dhona
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‘ , Examples on motion of magnet )
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~ QUESTION ) @

A metal ring is held horizontally and bar magnet is dropped through the ring with its
length along the axis of the ring. The acceleration of the falling magnet is

@ i - | s ol
equaltog J’m""’- 7

@@ng @ % Scluced (i) i J{
@ either (A) or (C)
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Predict the polarity of the capacitor in the situation described. Which capacitor plate
will be at higher potential @ (NCERT Example)




QUESTION ) @
For aday Low Y

L/‘:?erl:lon: Whenever magnetic flux linked with the coil changes with respect to time,
en an emf is induced in it. |
) arz law

k}mﬁﬁn: According to lenz law, the direction of induced current in any coil in such a
way that it always opposes the cause by which it produced.

@ If both assertion and reason are true and reason is the correct
explanation of the assertion.

Mm assertion and reason are true but reason is not correct
explanation of the assertion.

@ If assertion is true, but reason is false.

@ Assertion is false, reason is true






QUESTION )

Find direction of current in each case:

x X X X X X X X
X X X X
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QUESTION )

i =7 (Direction)
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— 710 N
A coil is placed in a magnetic field B shown below : A current is induced in the @
coil because B is @ (JEE Main 2021)

parallel to the plane of coil and increasing with time

: . o Induced current
outward and increasing with time Coil

outward and decreasing with time

parallel to the plane of coil and decreasing with time

gee®



QUESTION )

Find direction of current in each case:
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. Inside [Outside of Magnetic Field ) @

A conducting loop is moving from left to right through a region of uniform magnetic
(B) field. Its four positions are shown below. Show the direction of induced current in
all four positions.
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QUESTION )

completely emerges out at ¢t =T sec. The current in the ring varies as
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A metallic ring is dropped down, keeping its plane perpendicular to a constant and
horizontal magnetic field. The ring enters the region of magnetic field at t = 0 and

(AIIMS 2006)
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Expression for magnetic field or area changing with time

CP i~ 8/3 cesS O

* let O=0 (8 — cbovyge

T el = d$ _ d(8a)
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QUESTION )

Gy

A rectangular coil of 20 turns and area of cross-section 25 sq. cm has a resistance of

100 Q. If a magnetic field which is perpendicular to the plane of coil changes at a rate

of 1000 tesla per second, the current in the coil is

=4 (1992)
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At a place earth's magnetic field, 5 x 10> Wb/m? is acting perpendicular to a coil of
radius R =5 cm. If p,/4m = 107 T m A-1, then how much current is induced in circular

loop? (AIIMS 2001)
f — cerqgt

@ 0.2 A b o
dt
@A

@ 401




QUESTION

in loop of radius 10/y/m

field of he magnetic field is decreased to z

(V) emf=1mv
@ -10my
(3) emf=100mv
(@) emf=5mv

. _‘icm 6 '
Im = 0 -0'S
G;—’ g AR — _0-S

At-=0"S Sec, [AB/ = 40-5

€= NAa AR 4\\8 V
At \ —~t

0
S
s placed perpendicular to a uniform magnetic

@ ero in 0.5 s at The
induced emf in the circular loop ¥f-o [24 Jan, 2023 (Shift-1)]
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The magnetic field B crossing normally a square metallic plate of area 4 m? is
changing with time as shown in figure. The magnitude of induced emf in the plate

duringt=2stot=4s,is mV [11 April, 2023 (Shift-1)]
@ Hint Slepe— AR oy
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A uniform magnetic field is restricted within a region of radius r. The magnetic field

changes with time at a rate . Loop 1 of radnu@ r encloses the region r and loop

2 of radius R is outside the region of magnetic field as shown in the figure. Then, the
emf generated is (2016)

@ Zero in loop 1 and zero in loop 2
><

@ _d_Bm mloopland—-d—ﬂ‘r in loop 2

dt

>
@ —‘n loop 1 and zeroin loop 2
Fu : &
@/—I@“ loop 1 and zero in loop 2 % Petivy anee — TIA -
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QUESTION ) @

A conducting circular loop is placed in uniform magnetic field, B = 0.025 T with its
plane perpendicular to the loop. The radius of the loop is made to shrink at a constant
rate of 1 mm s™'. The induced e.m.f. when radius is 2 cm, is (2010)
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A conducting circular loop is placed in a uniform magnetic field of 0.04 T with its
plane perpendicular to the magnetic field. The radius of the loop starts shrinking at
2 mm/s. The induced emf in the loop when the radius is 2 cm is (2009)



A rectangular, a Sguare, a circular and an elliptical loop, all in the xy-plane, are moving
out of a uniform magnetic field with a constant velocity, v = vi .The magnetic field is
directed along the negative z-axis direction. The induced emf, during the passage of
these loops, out of the field region, will not remain constant for (2009)

@ the rectangular, circular and elliptical loops

@ the circular and the elliptical loops

@ only the elliptical loop

@ any of the four loops



Inside [Outside of Magnetic Field ) @
@: patient is slowly pushed in a time othm the coils of the magnet

where magnetic field is B = 2.0 T. If the patient’s trunk is 0.8 m in circumference, the
induced emf around the patient's trunk is (AIIMS 2017)

* Mot B S — 2w = 08 .
(1) 1018x102V v 08
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c , Expressions for changing angle )
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If loop is rotated by 180 degrees, find the induced emf. @~ -4 _ _ (-80-8a)
ot o
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A 800 turn coil of effective area 0.05 m? is kept perpendicular to a magnetic filed
5 x 10-> T. When the plane of the coil is rotated by 90° around any of its coplanar axis
in 0.1 s, the e.m.f. induced in the coil will be: (2019)

@ 2x103V @ = "NEA = . %sox Sxro "% 6-45
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A circular coil of radius 10 cm, 500 turns and resistanc@ placed with its plane
perpendicular to the horizontal component of the earth's magnetic field. It is rotated
about its vertical diameter through 180° in 0.25s . The current induced in the coil is
(Horizontal component of the earth's magnetic field at that place is 3.0 x 10-5T)

(AIIMS 2017)
@ 1.9 x 10-3 A € = L NBA }

+
@ 2.9 x 103 A |

- L
IR
@ 39x 103 A |

@ 49x107A




AC Generator @

It is a device which changes mechanical energy into electrical energy.

L——> kimadte )

Principle - It works on the principle of electromagnetic induction. The angle between
the magnetic field and the area vector continuously changes.
R —

L
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Alternating Current Generator
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A wire loop is rotated in a magnetic field. The frequency of change of direction of the
induced emfis (on cuorent) INEET 2013}

@ once per revolution

%ce/ger revolutio

@ four times per revolution

@ six times per revolution

-




QUESTION )

In a region of uniform magnetic inductionﬁ? =10 T,&a circular coil of radius(30 cn?

//30 1y N
Eae S @

and resistance m* ohm is rotated about an axis which is perpendicular to the
direction of B and which forms a diameter of the coil. If the coil rotates at 200 rpm

the amplitude of the alternating current induced in the coil is

'o’-‘—?

)-o - 469 =3
R

L P

Mo ih™

[CBSE AIPMT 1988]
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c , Induced Charge Flow through the coil )
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The magnetic flux through a circuit of resistance R changes by an amount A¢ in a time
At. Then the total quantity of electric charge @ that passes any point in the circuit

r\

during the time At is represented by (2004)
A

® o-rf £

® o-3
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A circular ring of diameter 20 cm has a resistance of 0.01 . The charge that will flow
through the ring if it is turned from a position perpendicular to a uniform magnetic

field of 2.0 T to a position parallel to the field is about (AIIMS 2018)
@ o A =484 _ ga 76" Motetion
K R
\ ' A4 = RA

(2) os63c :
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QUESTION )

The total charge induced in a conducting loop when it is moved in magnetic field
depends on

@ the rate of change of magnetic flux

@ initial magnetic flux

@ the total change in magnetic flux

@ final magnetic flux
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In a coil of resistance 100 Q, a current is induced by changing the magnetic flux @
through it as shown in the figure. The magnitude of change in flux through the
coil is - [JEE Main 2017)

%
W’SOWb
A4 = 89 x €
@ ALrN = &S A [oe
@ 200 Wb = QASo Wb

6@ 225 Wb
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In a coil of resistance 10 €, the induced current developed by changing magnetic flux
through it, is shown in figure as a function of time. The magnitude of change in flux
through the coil in Weber is: (2012)

OK
i (amp)
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c, Motional EMF )

The EMF induced due to motion of conductor in magnetic field.
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c , Fleming right hand rule 9/? Fare Use

First finger - Magnetic Field

Middle (Central) Finger - Induced current A
Thumb - Motion of conductor @ T

B
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‘, Vector Form |
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Find: : C % &> )
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Find:
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Find:




QUESTION )

Find: L = ? S‘QM (00#7
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A wire of length 1 m is moving with a velocity of 8 m/s at right angles to a magnetic
field of 2 T. The magnitude of induced emf, between the ends of wire the will be

[25 Jan, 2023 (Shift-11)]
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An emf of 0.08 V is induced in a metal rod of length 10 cm held normal to a uniform
magnetic field of 0.4 T, when moves with a velocity of: [8 April, 2023 (Shift-11)]




A solid metal cube of edge length 2 cm is moving in a positive y direction at a @
constant speed of 6 m/s. There is a uniform magnetic field of 0.1 T in the N/
positive z-direction. The potential difference between the two faces of the cube

perpendico the x-axis, is (JEE Main 2019)

6 mV

1mV

12 mV

2mV
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A conductor of length 0.4 m is moving with a speed of 7 m/s perpendicular to a

magnetic field of intensity 0.9 Wb/m?. The induced emf across the conductor is
[CBSE AIPMT 1995]
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A cycle wheel of radius 0.5 m is rotated with constant angular velocity of 10 rad/s in a
region of magnetic field of 0.1 T which is perpendicular to the plane of the wheel. The

EMF generated between its centre and the rim is [NEET (Odisha) 2019]
(1) o02sv
- < S
7ol B = ! x0:lx4ex O'Sx0-S
0.125V < =

0 )asS

1

@) osv
@ <, [ A
Zero |
(ﬂnhn)



&

210 rpmJabout an axis normal to the rod
passing through its one end. The other end of(the rod is in contact with a circular
metallic ring. A constant and uniform magnetic ffield 0.2 T parallel to the axis exists
everywhere. The emf developed between the(centre and the ring is mV.

A 20 cm long metallic rod is rotated wi

Take m=22/7 J 15 April, 2023 (Shift-1
/ Bt R [15 Apri (Shift-1)]

@ 22 A adse
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QUESTION )

A wheel of(10 spokes)is rotating in a cross magnetic field of 0.4 gauss with
f’ e radius of wheel = 0.5 m. Find emf induced between center and rim
of the wheel.

(Similar to NCERT Example)

6--—__';\8%2 xlo X '\‘*’
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A wheel with 20 metallic spokes each 1 m long is rotated with a speed of 120 rpm in a
plane perpendicular to a magnetic field of 0.4 G. The induced emf between the axle
and rim of the wheel will be (1 G=10"*T) [NEET (Oct.) 2020}

(1) 251x10v
(2) 251x10V
@ 40x 10>V
@ 251V
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A copper rod AB of length |, pivoted at one end A, rotates at constant angular velocity
®, at right angles to a uniform magnetic field of induction B. The emf, developed
between the mid point C of the rod and end B is

Bwl? -
- -
@ - Z-EfSw(I,_ f,) 2 ®
(2) ipor? 4 s e
X w0

@ Bwl?

4
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c , Self Induction ) @

The property of coil by which it opposes the change in flux in itself is called self

induction. 3
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‘ , Self Inductance (L) or Coefficient of Self Induction )
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A current of 2.5 A flows through a coil of inductance 5 H. The magnetic flux linked

with coil is (Karnataka NEET 2013)
@ 0.5 Wb P = L
q’ o Sx Q‘S
5Wb
— RS
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A long solenoid has 500 turns. When a current of 2 ami ere is passed through it, the

resulting_magnetic flux linked with the @ach turid of the solenoid is
@0‘3 Whb) The self inductance of the solenoid is (2008)
O l;‘l"o"’"'g A
.0 henry A
Ne¢ — )
@ %4 iy Sesx I~ == L R
@ 2.5 henry 2 OOG X o e s 2

(4) 2.0henry @



P
QUESTION ) @
cendsmctorce T . QALY

Assertion (A): Inductance coil are made gf copper. Seriskerced .

WR}: Induced current is more in wire having less resistance.

R
%rﬁon is True, Reason is True; Reason is a correct explanation for Assertion.
@ Assertion is True, Reason is True; Reason is not a correct explanation for Assertion.
@ Assertion is True, Reason is False.

@ Assertion is False, Reason is True.
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Aw: Due to high inductance of any coil, the current attains it peak value

relatively late in it. Cw@
Reaﬁgn: Due to self induction, coil opposed theTTIBw of current through it.
>
@ [f both assertion and reason are true and reason is the correct

explanation of the assertion.

@ [f both assertion and reason are true but reason is not correct
explanation of the assertion.

@éﬁsserﬁon is true, but reason is false.

@ Assertion is false, reason is true
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The current in self inductance L = 40 mH is to be increased uniformly from 1 amp to

11 amp in 4 milliseconds. The emf induced in inductor during process is (1990)
@OOVOH lel = L ) A =11 -]
At i

| o
0.4 volt %
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A 12 V battery connected to a coil of resistance 6 (1 through a switch, drives a
constant current in the circuit. The switch is opened in 1 ms. The emf induced across
the coil is 20 V. The inductance of the coil is: [15 April, 2023 (Shift-1)]




) @,

When the current changes from +2 A to -2 A in 0.05 second, an emf of 8 V is induced
in a coil. The coefficient of self-induction of the coil is:
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QUESTION ) @

Assertion: The possibility of an electric bulb fusing is higher at the time of swntchmg

onand off. e V — hish i —2 Lust.
Reason. I‘Q%ffects produce a surge at the time of switch-off and switch-on.
cL) [AIIMS 2003]

@;’cﬂ%th assertion and reason are true and reason is the correct
explanation of the assertion.

If both assertion and reason are true but reason is not correct
explanation of the assertion. K

L-‘b 'Q,(-Q&h' CQQ Ifn_abc\

Assertion is false, reason is true

@ [f assertion is true, but reason is false.



c ! Self Inductance of Solenoid )
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If N is the number of turns in a coil, the value of self-inductance varies as
[CBSE AIPMT 1993]




) Gy

A coil of wire of a certain radius has 100 turns and a self inductance of 15 mH. The
self inductance of a second similar coil of 500 turns will be [AIIMS 2009]

&75:11}{ el b =i oo > Soo
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[f the number of turns per unit length of a coil of solenoid is doubled, the self-inductance
of the solenoid will [CBSE AIPMT 1991]

remain unchanged

be halved

be doubled

® OO

become four times



Mt_ltual induction(M) @

The property of coil by which it opposes the change in flux due to change in the
current in other coil
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‘ , Induced EMF in terms of Mutual Inductance )
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An emf of 0.5 V is developed in the secon coil, when current in primary coil
changes from 5.0 A to 2.0 A in 300 millisecond. Calculate the mutual inductance of the
two coils.
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QUESTION )

Two coils have’ a mutual inductance of 0.005 H. The current changes in the first coil
according to equation i = iy sin wt, i, = 10A and w =100 rad/s. The maximum value of

emf in the second coil is (CBSE AIMPT 1998)
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Mutual Inductance of two coaxial solenoids QY
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~ QUESTION ) @

Two conducting circular loops of radii R, and R, are placed in the same plane with
their centers coinciding. If R, >> R,, the mutual inductance M between them will be

| em—

directly proportional to [NEET 202 llj
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~ QUESTION ) @

Two concentric circular coils with radii 1 cm and 1000 cm, and number of turns
10 and 200 respectively are placed coaxially with centers coinciding. The mutual
inductance of this arrangement will be "] x 1078 H. (Take, % = 10)

[6 April, 2023 (Shift-11)]
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A small square loop of wire of side [ is placed inside a large square loop of wire.
L(L >> I). Both loops are coplanar and their centres coincide at point O as shown in

figure. The mutual inductance of the system is: [25 July, 2022 (Shift-1)]
@ 2\/-2_u0L2 .+.
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QUESTION )

Find the mutual inductance between the loop. (Assume r << R)
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There are two long co-axial solenoids of same length /. The inner and outer coils have
radii r; and r, and number of turns per unit length n, and n, respectively. The ratio of
mutual inductance to the self-inductance of the inner-coil is [11 Jan, 2019 (S-1)]
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Coefficient of Coupling / > / M= ki, / QWY
k= corffs of coublbimg
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~ QUESTION ) @

Two coils of self-inductances 2 mH and 8 mH are placed so close together that the
effective flux in one coil is completely linked with the other. The mutual inductance
between these coils is ' (CBSE AIMPT 2006)

@ 10 mH M=]=2xe ‘F~7
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Assertion (A): When two coils are ’Wounﬂ” on each other,/the mutual induction
between the coils is maximum. ,_— Al 41 Hue

Reas;((k): Mutual induction does not depend on the orientation of the coils.

75

@ Assertion is True, Reason is True; Reason is a correct explanation for Assertion.

@ Assertion is True, Reason is True; Reason is not a correct explanation for Assertion.

ssertion is True, Reason is False.

@ Assertion is False, Reason is True.



‘, Inductors in Circuits )
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_QuesTion ),

R=0.2Q. At a certain instant V, — V3 = 0.5V, = 0.5 A and current is increasing at
the rate of 8 A/s. Find inductance of the coil.




QUESTION )

Network shown in the diagram is part of an electric circuit. The current is 2 A and is
decreasing at the rate w then V, - V, equals
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What is the induced emf in a coil if current in it is constant.

| —» Cowat:

g

3
)3

|
™9
R4



c, Energy Stored in an Inductor )
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c , Energy Density in an Inductor )

Capacitor /_K So=t Gz
L
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QUESTION ) @

A 100 mH coil carries a current of 1 A. Energy stored in its magnetic field is

(CBSE AIMPT 1991)
| [T
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. QUESTION ) % @

The self produced emf of a coil is 25 volts. When the current in it is changed at
uniform rate fromIIO Ato 25 A in 1 s, the change in the energy of the inductance is:

e —25 [10 Jan, 2019 (S-11)]
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The magnetic potential energy stored in a certain inductor is 25 mJ, when the current
in the inductor is 60 mA. This inductor is of inductance (NEET 2018)



QUESTION )

An inductor may store energy in (CBSE AIMPT 1990)

A

@ its electric field
@ its coils

%agnetic field

@ Both in electric and magnetic fields







c, Inductors in Combination )
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. QUESTION ) # [_'_) @

Two inductor coils 20 H and 40 H combined in series to [Suppor{ each other so that
the resultant inductance id mutual inductance between them.

5H
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c, Eddy Currents ) @

The jnduced currents produced in the bulk pieces of conductors.

* (Current is not in well defined
paths.

* Their flow patterns resemble
swirling eddies in water and
these currents are called eddy
currents.




c i Applications of Eddy Currents )
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A copper plate is allowed to swing like a simple pendulum two magnets. s

Motion is damped and in a little while the plate comes to rest.

Magnetic flux associated with the plate keeps on changing as the plate moves in and
out of the region.The flux change induces eddy currents in the plate. kN

Directions of eddy currents are opposite when the plate swings into and out of the
region.




. ectangular slots are made in the copper
plate, area available to the flow of eddy
currents is less and damping is reduced.

* Used in the metallic cores of transformers,
electric motors and other such devices.

———e

* Eddy currents are undesirable since they heat

up the co dissipate electrical energy in
the form d
i
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) B lvanometer

_—>5 1A temt N“d}"j‘
When the coil oscillates, the eddy currents generated in the core oppose the motion
and bring the coil to rest quickly.
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QUESTION ) @

A magnet is dropped from same height through the PVC and Aluminium pipes each.
In which case, the magnet will reach the ground first?
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2. Magnetic Braking in trains

The eddy ynts induced in the rails oppose the motion of the train.

As there are no mechanical linkages, the braking effect is smooth.

Hs —me it

e
3. Induction furnace / e sl
Used to melt metals by producing high temperatures. %QU-» +

A high frequency alternating current is passed through a coil which surrounds the
metals to be melted. The eddy currents generated in the metals produce high
temperatures sufficient to melt it.
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4. Electric Power Meters QY

The shiny metal disc in the electric power meter (analogue type) rotates due to
the eddy currents. Iy

5. Induction Cooktop

l o
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Assertion: A metallic surface is moved in the moved out in a magnetic field, then emf
is induced in it.

Reason: Eddy current generate heat.

[f both assertion and reason are true and reason is the correct
explanation of the assertion.

If both assertion and reason are true but reason is not correct
explanation of the assertion.

If assertion is true, but reason is false.

0000

Assertion is false, reason is true
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Eddy currents are produced when [AIIMS 2000]

@ a metal is kept in varying magnetic field
@ a metal is kept in the steady magnetic field
@ a circular coil is placed in a magnetic field

@ through a circular coil current is passed.
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Assertion: If current if flowing through a machine of iron eddy currents are
produced.

Reason: Change in magnetic flux through an area causes eddy currents. [AIIMS 2000]

If both assertion and reason are true and reason is the correct
explanation of the assertion.

[f both assertion and reason are true but reason is not correct
explanation of the assertion.

If assertion is true, but reason is false.

Assertion is false, reason is true

00006
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In which of the following devices, the eddy current effect is not used?

@ Induction furnace

@ Magnetic braking in train

@ electromagnet
@ electric heater
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QUESTION )

What is current in inductor at a time equals to one time constant.

o

=




An ideal coil of 10 H is connected in series with a resistance of 5 Q and a battery of 5V.
After 2s, the connection is made, the current flowing (in ampere) in the circuit is

@ (1-¢) v ('-—‘e—-—ﬂ/,_)

R
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In the circuit given in figure, 1 and 2 are ammeters. Just after key K is pressed to
complete the circuit, the reading will be [lﬁ‘iﬁ)

@ Zeno iN |, max™ im Q
@ max™ in both | and 2
@ 2o In botn | and 2

@ max™ in | | Zere M R




In the figure shown, a circuit contains two identical resistors with resistance R @
Q) ohd an inductance with L = 2 mH. An ideal battery of 15 V is connected in N\
the Circuit. What will be the current through the battery[long(after the switch is

closed ? o (JEE Main 2019)

~
3
>
A
<
W
l 7
~

"L
o
>
Ml
~
~

(S
>
oy
,l
m/a
AN
A
N
>
o bY
9115 -+
' v
L o
/EMB
N
[l
[
y




70
UESTION
il o QY
ach and L = 2 mH each. Battery emf = 18 V. Find current through battery just
a

ter the switch is closed is lovd J<— (NEET 2017)




‘, Discharging Circuit )
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An inductor L, a resistance R and two identical bulbs, B, and B, are connected to a
battery through a switch § as shown in the figure. Which of the following statements
gives the correct description of the happening when the switch S is closed?

@ The bulb B, lights up earlier than B, and finally both the bulbs shine equally bright
@ B, lights up earlier and finally both the bulbs acquire equal brightness

@ B, lights up earlier and finally B, shines brighter than B,

@ B, and B, light up together with equal
brightness all the time
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